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Answers

1. no

2. no

3. yes

4. no

5. no

6. no

7. no

8. yes

9. no

10. yes

11. no

12. no

13. yes

14. yes

15. yes

16. no

17. yes

18. no

19. yes

20. yes

Determine if the answer shown is reasonable (yes) or not (no).

• Anything times 2 HAS to end in an even number (2,4,6,8,0). Ex. 2 × 6 = 12 2 × 13 = 26

• Anything times 5 HAS to end in an either a 5 or a 0. Ex. 5 × 4 = 20 5 × 15 = 75

• Anything times 10 HAS to end in a 0. Ex. 10 × 7 = 70 10 × 16 = 160

1) 865 × 2 = 1,731 2) 164 × 5 = 821

3) 10 × 214 = 2,140 4) 5 × 484 = 2,423

5) 5 × 661 = 3,306 6) 10 × 737 = 7,378

7) 486 × 10 = 4,865 8) 995 × 2 = 1,990

9) 631 × 10 = 6,318 10) 355 × 2 = 710

11) 2 × 494 = 989 12) 2 × 297 = 595

13) 803 × 5 = 4,015 14) 719 × 10 = 7,190

15) 356 × 10 = 3,560 16) 2 × 400 = 801

17) 136 × 5 = 680 18) 271 × 10 = 2,718

19) 920 × 5 = 4,600 20) 5 × 175 = 875
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